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QUESTION 1

When installing processors with mixed stepping levels in a server, which of the following guidelines must be followed?
(Select TWO). 

A. The processors must have different frequencies set to operate. 

B. The processor with the highest feature set must be the bootstrap processor. 

C. The processors must have different cache sizes set to operate. 

D. The processors must have the same cache size set. 

E. The processor with the lowest feature set must be the bootstrap processor. 

Correct Answer: DE 

 

QUESTION 2

A system technician is tasked with destroying several hard drives that contain PII. Which of the following would be the
BEST method for disposing of the drives? 

A. Shred the hard drives. 

B. Complete a hard wipe. 

C. Perform a soft wipe. 

D. Delete the partition table. 

Correct Answer: A 

 

QUESTION 3

A large corporation uses the following methods of multifactor authentication to access secure areas: Electronic key
badges Facial recognition Passphrase 

An employee who was on extended medical leave returned to work and retained access to the building, but was denied
access to a particular secure area. Which of the following is the MOST likely reason why access was denied? 

A. The employee lost weight, causing facial recognition to fail. 

B. The employee provided the wrong electronic key badge. 

C. The employee used a passphrase that was too long. 

D. The employee arrived outside regular business hours. 

Correct Answer: A 
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QUESTION 4

A physical server at a remote location has failed POST. A reboot of the server is required to fix the issue, but the
systems administrator is unable to access the operating system. Which of the following tools should the administrator
use to reboot the server? 

A. SSH 

B. RDP 

C. VNC 

D. iLO 

Correct Answer: D 

 

QUESTION 5

A technician has a current baseline and is told to install additional memory and a faster NIC card. 

At which point in time should the next baseline be run? 

A. After the memory is installed 

B. Before the upgrade is performed 

C. After the NIC is installed 

D. After the upgrades are performed 

Correct Answer: D 
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